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1.

kY

A fair coin is tossed 30 times, the result of which is tabulated below. -
Study the table and answer the questions given below the table:

Event Tally Marks ~ | Frequency |
Head ' R R 4
Tail ‘ 100300 1 . 16

3) How many times does 'head' appear?

(ii) How many times does 'tail’' appear?

(iii) Estimate the probability of the appearance of head?
(iv) Estimate the probability of the appe'aranceoftail? :

. Solution. From the table, total outcomes = 30 ::> n(S) = 30

_(i)
(1i)
(iii)

| (iv)

2.

(1) 'wanmnyﬁmesdoéldols'appeaﬁ?

From the table we see that

Let A= event the times head &ppears = n(A)= 14

Let B = event the times tail appears = n(B)= 16

Probablhty t,hat head appears = P(A) = BI%SA—)) = f;% = %
n(B)- 16 8

Probab:lhty that tail appears = P(B) =28 2B

A die lstomed 100 times. The result is tabulated below. Study the table
and answer the questions given below the table:

Event | Tally Mai'ks Frequency
1 HH Wl :
1 : _ 14
‘ WM OW
2 , 17
3 W ‘Hll_‘lll 20
6 L _ 15
6 TWWwWy | - 18

(ii) How many times do 5 dots appear ?

(iii) How many times does an even number of dots appear ?
(iv) How many times does a prime number of dots appear ?
(v) Find the probability of each one of the above cases.
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Solutlon From the table, total outcomes = 100 = n(S) = 100

(i)

(ii) LetB= event, the number of times 5, dots appear => n(B)= 15

(iii) LetC = event, the number of t,unes, evendots appear

N =>n(C)-17+18+16=_= 51
- (iv) LetD = event, the number of times, prime dogg appear
- = nD)= 17+15+ 20 = 52

(v) ‘Required probablht.les are as : S ‘ :
PA) = nﬁ(%l .-.'% =5  REB= -"(%) - o= —%

3. The eggs supphed bya poultry farm durmg a week broke dunng.
transit as followst 1%, 2%, 12% ‘3 , 1.%, 2% 1%
Find the probability of the eggs broke in a day. Calculate-the numb'er
ofeggsthntm]lbebrokenmtransltmgthefollowmgnumberofeggs: -
(i) 7000 (i) 8400 (i) 10,500 |

Solution. = Transit Broken eggs No. of eggs

‘ -1 1 - : 100
2 2 S 100
'3 12 =15 100
4 4 - 05 100 -
5 R 10
6 2 _ - 100
7 ) 100

Total eggs = n(S) =

'From the table, we see that

Let A = event, the number of times, 3 dots appear = n(A)=20

Let A eventtheegg‘sbroke = n(A) -1-v}-2+1.5-‘+0.5+1+2+1=9‘

(1),

700

_nA) 9
PO =) @ —
Numberofeggsbrpkein?ObO = 7000x—§—- =90
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(ii) Number of eggs broke in 8400 = 8400 77_?5 = 108

(i)iiv‘N_umber ofeggs broke in 10500 = 10600x -7%) = 135

§ 7.7 ADDITION OF PROBABILITIES.
| ‘Notations. , ' | :
We know that P(E) means the probablhty of an event E.

Now if A and B are any two events, then

P(A) probabxhty of ogurrence of the event A

P(B) = probablhty of occurrence of the event B ‘
- P(A\U B) = probability‘ of occurrence of the event A or B
P(AM B) probablhty of occurrgnce of the event A-and. B
Theorems of Addition of Pmbabilntles. , :
I. PAUB) = P(AorB) = P(A) + P(B), when A and B are dlSJOlnt
II. P(AUB) P(A) + P(B) P(AMB), when A and B are overlapping

|
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